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is'f SECOND REVISION EXAMINATION - 2025
L1 - Std MATHEMATICS HLLLLLL
Time : 3.00 hrs. Marks : 90
- PART-I |
Choose the correct answer: ' : - 2071=20
L. ‘If the function f:[~3,3] = S defined by f(x) = x? is onto, then S is
@991 R @33 (@0 |

2. The solution of 5x =1 < 24 and 5x +1 > =24 is
L @S (B)(-5-4) (©(-55) () (-54)
3. cos26 cos2¢ + sin?(6 —‘¢) = sinz.(() + @) isequalto
. @)sin2(8+¢)  (b)cos2(8+¢)  ()sin2(@—¢)  (d)cos2(8 ~ ¢)
4, In 2" Cy=11:1thennis

@s (b6 O (d) 7
5. The coefficiént of x5 in (2 + 2x)° is
@Y (b)2° (c) 19Cs2°  (d) 10Cs2"
6. If S, denotes the sum of n terms of an AP whose common difference is d, the valug of -
'Sn - ZSn_l > Sﬁ_z is :
" (a)d (b) 2 d () 4d (d)d*.
‘ ‘ R & i
7. If the point (8, —5) lies on the locus % ? ;’—5 = k, then the value of k is !
(a) 0 (b) 1 (c)2 (d)3
: . - _\‘lex-Z et 1. . )
8. The value of x, for which the matrix A = [e2 b g +3] 1s singular is .
@9 ()8 (©)7 (@6
9. IfBA =3+ 2] +kand the position vector of B is i + 3] — k, then the position vector 4 is
(@) 4+ 2.+ k (b) 41+5] (c)4i (d) —4i |

3x-¢ 0<x<1
10.  Let the function f be defined by f(x) = [_J;x 45 1< i < then

@lmf=1  Olmf@=3 . ‘(c) limf)=2 (@ mf(x) does not exist

. sin a-cos @ .
11. lm;z — 1S
. as; %

(V2 (b) (©1 (d)2
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_f{_ (Cx'l~SI()g ,1) is
. . ‘ "« 5
(a)e* - x*(x+5) (b)y e*: x(x+5) (c) e” + ; (d) e* — =

If [ £/ (x)e¥ dx = (x — 1)e*” + ¢, then f(x) is

(@) 2.x~~‘~§+x+c (b)i§+3x2 +4x+c
@+ 6xC @ -2 tx+c
[sinVxdxis S - . _
(a) 2(—Vx cosVx + sinvx) + ¢ | (b) 2(—Vx cosvx = sinvVx) + c
(©) 2(—VX sinVx — cosvx) +¢ - (d) 2(—V% sinVx + cosvx) + .
If A and B are any two everits, then the probability that-exactly one Vof them occur is
(a) P(AU B) + P(AUB). ~ (®PMANB)+P(ANB) ‘
() P(A) + P(B)—P(ANB) (d) P(A) + P(B) + 2P'(A nB) e

f:R —{0} = R defined by f(x) ='%is

" (a)not a function - ~ (b) not one to-one but onto

(c) one to one but not onto ~ (d)both one to one and onto

-The value of cos A cos 2Acos4A is

Sin8A 8sin A din 84 sin 84
- (b (c) - (d)

(a) 8sind ( )sin 84 8 sin A

' The locus of the rhoi'ing point (acos 8, bsin@ ) is

271 2 ' 2 2 . 2
@W5-5=1 . Opth=1 @F-y'=d @ +y'=5

If I*a‘l. =3 and lEI = 2, then (21’5+ 3) (Zi - E) is equal to
@-; OS5 ©F @5 '
ify= sec(tanflx ) then %i—' atx =1 ié equal to

(a) 5 b; - ©1 vz

PART-II -
Answer any seven questions; (Q.No, 30 is cmnpulmry) 7%2=14
Ifn(ANnB) =3and n(AU B) = 10, then find n(f(A48)). '
Solve forx: |4x—5|=>2
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In a circle of diameter 40 ¢m, a chord is of length 20 ¢cm. Find the length of the minor
arc of the chord '

~ % 1
If = + I'—, = ;)-‘ then find the value of 4

Show that the lines are 3x + 2y +9 = 0 and 12x + 8y — 15 = 0 are parallel lines

Show that the points (a, b + ¢), (b, ¢ + a) and (c,a + b) are collinear

Compute ltm[ + 3]

24 .
X .
Integrate — With respect to x:

Given that P(4) = 0.52, P(B)= 0 43 and P(A N B) 0.24, find (1) P(ANB)
(1)P(A'UB)

Differentiate 5.

PART-III -
Answer any seven questions : (Q;No; 40 is coinpulspry) S } 7%3=21
Find the largest possible domain for the real valued fungtlon given by f(x) = \/;2;1.

If a? + b* = 7ab, show that log s> = > (loga + log b).

How many different selections of 5 books can be made from 12 different books if, (i)
Two particular books are always selected? (ii)Two:particular books are never sglected?

3 5
Find thc constant term of (Zx — 5;2—)
1 g ™ J1-2x2 —x% =x?
Prove that [x 1 x| =] —x? -1 oZ ot Dog
x N1 —-x2 x2 —2x =1

Find the area of the triangle whose vertices are A(3,—1,2), B(1,—1,=3 and (4, =3,1)

Differentiate y = xVx

Evaluate [ e*(sinx -+ cosx)dx |
If P(A) = 0.5, P(B) = 0.8 and P(B/A) = 0.8, find P(4/B) and P(A U B)

Solve 2sin®*x — 7sinx +3 = 0 _
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PART-IV
Answer all: | 7*5=35
a) Let f, g: R = R be defined as .f(xj} =.2x — |x| and g(x) = 2x + |x|. Find f * g. (OR)
b)If6 + ¢ =aand tanb =k tan ¢, then prove ihaf sin(@ —'“¢)b = ,’:—;%Sm a
a) If one root of k(x _ 1)2=5¢x-7 is.doubl.é the other root, show that k = 2 or —25.(OR)
b)IfA+B+C=m, pr‘oveA that coéz A £ cos?B + cos? C = 1.—2cos A cos B cos c
a) By the principle 6f Mathematical iﬁductioh, prove tha‘t, forn > 1. V 9,

12423434+ +n- (n+1) =2000D (OR)

x+1

b) Integrate with respect to X: ==

a) Find the equation of the line through the intersection of the lines 3x + 2y +5 =0 and
3x — 4y + 6 = 0 and the point (1,1). (OR) : |

"
e a? bc  ac+c?
"b) Prove t.hat a’+ab b? ac =. 4(121)2C2
: ab  b*+bc

a) Show that the vectors 5%+ 6] + 7k, 71-8j + 9k, 3i + 20j + 5k are coplanar. (OR)

b) Evaluate lim{x[log(x + @) = log(¥)]} (OR) (OR) 15

a)Ifx = a(f +sinf),y = a(1—cos @) then pfovel that at 8 = %y = % . (OR)
"

t;) The probability that a new r.ail\_vay_l?rid ge will get an award for its dc;Sign is 0.48,
the probability  that it will get an award for the efficient use of materials is 0.36, and that it
will get both awards is 0.2. What is the probability, that (i) it will get at least one of the two
awards (ii) it will get only one of thie awards.

B 1
a) Differentiate (i) f(x) = e 2 cos x (i) f(t) = 1—55 (OR)

1—-

b) Evaluate [ cos™! (—ijdx

1+x2

|
|
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